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7 KOSCIELNA 0 2 2
8 KOWOLOWKA 4 1 5
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10 KRETKOWA - +ACZNIK 2 1 3
1i MAJOWA 12 4 16
12 NADWODNIA 3 9 12
13 SEONECZNA 0 0 0
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15 SZKOLNA 8 2 10
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SUMA 95 79 174




KACWIN

RODZAJ ZRODEA

RODZAJ SEUPA SWIATEA
% $¢ $¢
< ILOSC OPRAW DLUGO:!
LP. ULICA NR SEUPA E UWAGI
NA StUPIE WYSIEGNIKA
5 Sz LED SODOWA E
gp32
= w = E
om=3g 3
Eogbhe
1] < D, N §
z2Zx 27
NN O W
1 BN E 1 1 1
2 BN N 1 1 0,5
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2 BN ZN 1 1 0,5
3 BN E 1 1 0,5
4 BN E 1 1 0,5
5 BN E 1 1 1
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6 BN E 1 1 1
7 BN 550 1 1
g BN 550 1 1
9 BN 550 1 1
10 BN 550 1 1
SUMA 10
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2 12 ZN/AL 1 1 1
3 BN E 1 1 3
4 BN E 1 1 1
5 BN E 1 1 1
6 BN N 1 1 1
7 43/3 ZN/AL 1 1 1
8 BN E i 1 1
9 25 ZN/AL 1 1 1
10 24 N 1 1 1
11 BN ZN/AE 1 1 1
12 19 E 1 1 2
13 BN E 1 1 2
14 BN IN/AL 1 1 35
15 BN IN/AL 1 1 1,5
16 BN INfAL 1 1 15
17 BN IN/AL 1 1 15
18 JANA PAWEA I 88 ZN 1 1 1,5
19 BN E 1 1 1,5
20 86 E 1 1 1,5
21 BN ZIN/AL 1 1 1,5
22 BN ZN/AL 1 1 1,5
23 BN N 1 1 1,5
24 74 ZN/AL 1 1 1,5
25 BN ZNX3 1 1 1,5
26 BN ZNfAL 1 1 15
27 77 ZNX3 1 1 2
28 BN IN/AL 1 i 2
29 83 iN 1 1 1,5
30 85 ZIN/AL 1 1 1
31 BN E 1 1 15
32 BN E 1 1 1,5
33 BN N 1 1 1,5
34 BN ZNX2 1 1 1,5
35 BN ZN/AL 1 1 1,5
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1 201 E 1 1 2
2 BN IN/AL 1 1 2
3 207 IN/AL 1 1 2
4 210 ZN 1 1 2
5 212 IN/AL 1 1 2
6 219 E 1 1 2
7 20 ZN/AL 1 1 2
8 13 ZN 1 1 2
9 BN E 1 1 2
10 BN E 1 1 1
11 BN ZNX2 1 1 1
12 BN ZNX2 1 1 1
13 BN E a} 1 1
14 301 IN/AL =4 1 1
15 303 IN 1 1 1
16 306 ZNX2 1 1 1
17 307 ZNX2 1 1 1
18 308 E 1 1 1
19 310 ZNX2 1 1 1,5
20 BN E 1 1 1,5
21 313 ZNX2 1 i 1,5
22 BN E 1 1 15
23 BN E 1 1 1,5
24 BN E 1 ¥ 1,5
25 15 ZNX2 1 1 1,5
26 SWIETE) ANNY 14 ZN 1 1 15
27 12 ZNX2 1 1 2
28 11 ZNX2 1 1 2
29 BN E 1 1 1,5
30 607 ZNX2 1 1 1,5
31 605 ZNX2 1 1 1,5
32 603 ZNX2 1 1 15
33 BN E 1 1 15
34 201 E 1 1 1,5
35 49 ZNX2 1 1 1
36 BN ZNX2 1 1 2
37 BN IN/AL 1 1 1,5
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39 209 ZN 1 1 1
40 BN ZN 1 1 15
41 60 EX2 1 1 15
42 BN E 1 1 1,5
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a4 14 ZN/AL 1 1 1,5
45 BN E 1 1 1,5
46 BN E 1 1 1.5
47 9 E I il 1,5
48 7 E 1 1 1,5
49 BN E 1 ik 2
50 BN E 1 1 2
51 BN E i1 1 2
SUMA 19 32 51
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